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67|~ 7Lk (DEP) bl [0.005LLF 0.0002435 [0.0002:4# 10.0002 A7
68|~ T/ —)L A A 0.1 0.00 1K [0.001 K [0.001 Kl
69[FU 7 LT BREA10.06 04 F 0.000643i _|0.00064 |0.0006 A
70|73 Rl 10.03LA T 0.0003 A1 _|0.0003 A1 _|0.0003 A
71| $5a—1 BREAI ]0.00500 T 0.00005 41 0.00005 A1 0.00005 A i
72|~k A BREA] 10.000984F [0.00005 44 0.00005 4] 0.00005 A it
73|leTru=L BREAl 10.0104F 0.0001 A3 |0.0001 4 ]0.0001 A
I | e Rl [0.00400 0.00004Ai#] 0.00004 A i#] 0.00004 A i
75|67V R —b(ETVL—1) BREA] ]0.02LLF 0.0002435 [0.00024# 10.0002 A7
6|EVE T F A A dFAl 0.00280 F 0.00005Ai#] 0.00005 A i#] 0.00005 A i
eV FINT BRRE ]0.0200 F 0.0002435 [0.00024# 10.0002 A7
78| A% H A 0.0580 T 0.000541i _|0.0005A41i _|0.0005 A
719|747 u= A d A 0.000554 F 0.00000544i{0.00000544i 0.000005 A it
80[7==hrF A4 (MEP) A d A 0.01LL T 0.0001 A [0.0001 A3 |0.0001 A
81|7 = /7517 (BPMC) I 0.03LL T 0.0003 A3 [0.0003 74 10.0003 A
82| 7zl A d A 0.0580 T 0.000541i _|0.000541i _|0.00054ii
83| 7= F 4 (MPP) bl [0.006LL 0.000064]i#i[0.00006 15| 0.00006 A i
847 = b —hk (PAP) A A 0.007LL T 0.00007 Ai#i] 0.00007 A i#] 0.00007 A fif
85| 7= FIYIR BREAl 10.0100 F 0.000 1A ]0.0001 43 ]0.000 1 A




86| 7Y IAL 2 dA 0104 F 0.001A44# _0.001K{H 0.001 4

87| 7 & m—) Rl 10.03LL T 0.0003 A1 _|0.0003 A1 _|0.0003 A
88| 7 #3IA Bl 10.0280 F 0.00024i 00002t |0.000254i
897 T A d A 00280 T 0.000241i_|0.000241i_|0.0002 4
W07 TIF A Al [0.03LLF 0.0003A43_|0.0003 4 |0.0003 A
I TLFF/a—)L Rl 10.05L0 T 0.000541i _|0.000541i _|0.00054ii
92| 7 u IR iEAl [0.0900F 0.00094i |0.0009Ai# |0.0009Aii
93| FuF A KA A dFAl 0.00400 F 0.00004A4i#] 0.00004 A i#] 0.00004 A if
94| 7o a)— L il [0.05LLF 0.00054i _|0.00054 |0.0005 A
95| F a3k Rl 10.05L0 T 0.000541i _|0.000541i _|0.00054ii
96| 7 ) — L I 0.05L0 F 0.0005435 [0.00057# 10.0005 A
97| 7 uE T FN A A 0104 T 0.001 K [0.001Kiii [0.001 K

98|~ /3L Al [0.02LL 0.00024i [0.00024 |0.00024
99|~ v rmy A% A 0124 F 0.001Kdifi_[0.001Kii [0.001 Kl

T A A= il 10.09L0 F 0.0009Ai _|0.0009A1i | 0.0009 A i
01|~y T =)y il [0.00504 0.00005 4] 0.00005A:i#] 0.00005 A if
102[~o 2 BrEAl [0.200 F 0.002A4:4# _0.0025K1 0.0024

103| T4 AXY Bl [0.300F 0.0035Kidifi_ [0.0035Kiifi [0.003 Kl

104| X T FhVT A% A 10.04040 F 0.000443 [0.000443 |0.0004 A
105|_U 7T (RREVY) Bl 10.01LL T 0.0001 A |0.0001 A3 |0.0001 A
106|~>7L&—h BREAI 10.07TLL F 0.0007 A3 [0.0007 K4 10.0007 A
L07|RAFTE—] A d Al 0.00384 F 0.00003 1] 0.00003 A i#i] 0.00003 A if
18|~ TFF AL (vF/) il 0700 F 0.007A4# _10.007K7#_0.007 Af#

109|427 1v7 (MCPP) Rl 10.05LL T 0.000541ii_|0.000544i _|0.0005i
N EYN il 0.03LL 0.0003 A5 _|0.0003 415 _|0.0003 A5
L1 AFTHXL L A% d A 00680 T 0.000641ii_|0.0006A1i _|0.0006 A
L12[AF & F 4> (DMTP) A%l 0.00484 F 0.00004A4i#i] 0.00004 A 4i#i] 0.00004 A i
13| x5 v 20 Rl 10.03LL T 0.0003A1ii_|0.0003 A4 _|0.0003 A
114[AR /2 b A% A 10.0400 F 0.0004Ai _|0.0004A15_|0.0004 A
L15| AN TP BREF10.0304 F 0.00033ii_|0.0003A3i _|0.0003 A
116{ A7 =Ft vk il 10.0280 T 0.000243 [0.000243 [0.00024
17| A7 e=1 A% A 0124 F 0.001Kjif_ [0.001Kdif [0.001 Kl

118)EY R —h il [0.00504 0.00005Ai#] 0.00005 A i#i] 0.00005 A i




